Feb. 9, Wed.

In TV translate Nine A-B.

In GE read about usage of the dative (#190, pp. 179-80) and about time phrases (#191, p.
181).

Be able to conjugate the aorist infinitives (1% & 274, active and middle) for mavw and
Aaupdvw and for all the verbs learned so far (i.e., dkovoat, axovoaoOa, eimtetv [no
middle], maOetv, tabéoOat, yevéoOar, ktA.) (#195-97, pp. 187-89). Note that the accent
on the 1¢t aorist active infinitive is always on the penult, and is a circumflex if that
syllable is long (e.g., mownoat but dikaoat (a).

Learn the conjugation of ¢npui in the present and imperfect (RG says “past”).

In the Apology, translate from 18a7 (second new paragraph: ITowtov pév ovv...) to 18b4
(...tovTOULG detvovg). We'll come back to the first paragraph, which has more
complicated forms. Katnyoonuéva is the perfect passive participle of katnyooéw. The
perfect indicative M/P is katnyoon-pat, -oay, -tat, peba, -00¢, -viay see #267 (p. 291).
¢tog is a 3¢ (AN 00c) type noun. &ANO1ic and Pevdnc are like dpeArc (GE, p. 396 top ).
Odc¢ is a relative pronoun (masculine accusative plural); see #216a (p. 216).

Learn (as we add the perfect M/P as a principal part; see Helms p. 102 for table):

Pres. Fut. Aor. Perfect Perfect M/P  Aor. Passive
yiyvopar  yevrjoopatr Eyevounv - yéyova Yeyévnuat - become
dnui E0€w elmov elonka elonuat ¢oonOnv  say
Feb. 11, Fri.

In TV translate Nine C-D.

Be able to conjugate the aorist imperatives (1%t & 2", singular and plural, active and
middle) for mavw and AapPavw and for all the verbs learned so far with accents (#198-
200, pp. 189-91).

Read about the meaning and usage of the relative pronoun (#216b-218, pp. 217-19).

In the Apology, translate to 18cl mowwv.

Pres. Fut. Aor. Perfect Perfect M/P  Aor. Passive
me(Ow nelow émeloa TLETIE LA mémelopal  €nelodnv persuade
riémolfa
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Note that in 18b4, ot is not an article but, as the accent shows, a relative pronoun “[they]
who...” The basic syntax is: dAA” éketvol [elot] detvoTeQoy, ot ... EmelBov Te Kal
KT YOQOULV €HOV.

VU@V ToLG ToAAOUG is the object of both magaAaupdvovteg and €metOov.

Feb. 14, Mon.

In TV translate Nine E.
In GE, read about two infinitive usages (#202-203, p. 192).
Be able to decline mac and read about its tricky usage (#205, p. 193-94).
Learn the perfect active and M/P infinitives (#270, pp. 292-93); In the M/P the accent is
always on the penult and is a circumflex if the syllable is long.
Be able to decline the perfect active participle and familiarize yourself with the M/P
participle (the usual ending, but distinctively accented: -puévoc) (#271, p. 293).
Examples: 6 katnyopnkwg = “the one having accused, the accuser”
10 ovpPePnKkos (from cvuPaivw, befall, happen) = “the experience”
tx épot ovuBePnrota = “my experiences”

In the Apology, translate to 18c8 (0VdeVOG.) dtoAoyovuévov oVdeVOG is a genitive
absolute (#222-23, pp. 228-29).

Pres. Fut. Aor. Perfect Perfect M/P Aor. Passive
a&Low a&lwow Nélwoa Nélwka Nélwpat N&wwbnv deem

worthy
Feb. 16, Wed.

In TV translate Nine F.
Learn the aorist passive infinitive (-Onvat gndnvai axkovoOnvat, mombnvat,
nteloOnvat, ktA.) and in GE be able to decline the aorist passive participle (#229, p. 237).
Be able to conjugate the perfect M/P indicative (#267, p. 291). Because the perfect M/P is
athematic (no ¢/o theme vowel), the consonants of its endings (-uat, -oat, -tat, -ueda, -
00¢, -vtay, -pevog) create “clashes” with verb stems that themselves end in a consonant.
This phenomenon will show up rarely in the Apology. A quick survey of the dialogue
turns up the following; probably there are a couple of others:

nelBw (meld-) > mémelopal (0 + p > op)

okoTéw (OKET-) > Eokeppal (T + > pp), infin. éoxePpOat (1t + 00 > GO).
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draAéyoual (Aey-) > dretAeypat (cf. mémoaypat, #268, p. 292).

In the Apology translate to 18d7 (dmokQivopuévouv). undevog ATOKQLVOUEVOU is a
genitive absolute (#222-23, pp. 228-29). Recall that uno-¢ic is the equivalent of ovd-elig,
but used in other constructions (here, with the notion of conditionality, “if no one....”).

Learn:

Pres. Fut. Aor. Perfect Perfect M/P Aor. Passive
doréw dO0Ew €00l dedoknKa  dédoypar  €dokn|Onv seem
Feb. 18, Fri.

In TV translate Nine G
In GE, learn the forms of the present and aorist subjunctives (M/P at #274-76, pp. 300-01;
for passive see #369, p. 403).
Read about indirect statement (GE #235-36, pp. 247-49).
In the Apology translate to 19a2 (xoovw).

18el oirjOnre: for the principal parts of olopat / otpat, see Helms p. 108.

18e4 -téov is called a “verbal,” i.e., a verbal adjective, very like a Latin gerundive.
amoAoyntéov, “a defense is to be made” (#294-95, pp. 317-18).

Be able to recite all six principal parts of the following.
Pres. Fut. Aor. Perfect. Perf. m/p Aor. pass.

molew TOMowW é¢moinoa nemolnka  memolnuatr  Emow)onv

KATNYO0QEéW KATNYOQTOW KATNYOONOX KATNYOQNKA KATNYOQNHAL KXTIYOQN-

Onv
yYiyvopar  yevrjoopo &yevounv  yéyova yveyévnuatr  &yevrionv
aKoLW axovooual nKovoa AKT)KOO none nkovoOnv
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Feb. 21, Mon.

Quiz on principal parts: drovw, dldw, yiyvoual doréw, katnyopéw, melBw,
niolew, and ¢nui.

In TV translate Nine H.

Apology to 19¢5 (énaiw).

19a2 BovAoiunyv ... amoAoyovuevov This is a future less vivid (“should /
would”) condition; RG calls it a “future ‘remore’ condition.” Let’s use “less vivid. The
verb assumed in the apodosis is €in (3*¢ sing. opt. of eiui [be]). For an explanation of this
kind of condition, see #240-41, pp. 257-58. BovAoiunv also governs momoat. In
another order: [BovAolunv] pe dmoAoyovuevov [i.e., by making my defense] momoau
AoV TL

19a8 dvaAdaPwpev: on the hortatory subjunctive, “let us ... 7, see #303, p. 330.

Feb. 23, Wed.
In TV translate Nine 1.

Learn the 1%t and 27 aorist optative, active and middle (#212, pp. 210-11)
Apology to 20a2 (moooedévat).

19¢7 pn...pevyowut: optative of wish, #244, pp. 259-60.

19el el tic oiog T el The protasis of a future less vivid condition, even though
the apodosis is that of a simple condition. This is called a mixed condition. A hint of
scepticism enters when Socrates gets to the protasis.

Let me give you the standard form of the future less vivid and create an
unmixed version of related proposition:

Future less vivid:

protasis apodosis
el + optative optative + av
el T olog T ein madevev avOpwmovg wome I'ogylag, Oavuadlott &v.
If someone should be able to educate men as Gorgias does, I would
marvel [at him]. (But that seems unlikely.)
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19¢8 ¢pot tovtwv [partitive gen. with péteott, “have a share of”] ovdév [easiest
to take adverbially, “not at all”] péreorwv.

19d4 et nwmorte ... The protasis of a simple condition, with indicatives; RG calls
the condition “open” (#256, p. 277). The protasis implies nothing about the reality or
probability of the apodosis. Note that the indicative is unaffected by the fact that the
protasis is in indirect statement (“consider if...”).

19e5 In a different order: — oig [antececent: ToUg véoug] é€eoTt oLVELVAL TTROTKA
@ av PovAwvtal [dative with oUvewuy, “to whomever they want”] twv éavtav
TIOALTQV —

@ av BovAwvtal is a general condition; RG calls it an “indefinite” condition
(#282, pp. 304-05).

Present general:

protasis apodosis
gav (el + av) + subjunctive present indicative

Edv Tl ovvetvat PovAwvtal  €EeoTiv.
If ever they want to consort with someone, they can.

Otav [Ote + av] Twvi ovvetvat PovAwvtal, — €£eoTuv.
Whenever

Ot v or @ &v ovveval PovAwvtal EEeotuv.
With whomever

19e6 After the parenthesis, Socrates changes his construction. In a different order:
nteilBovot [subject: the sophists] tovtoug [antecedent: Tovg véouc]

ATOALTIOVTAGC TaG ekelvawv [antecedent: TV éavTV TTOALIT@WV] CLVOLOIAG
ovvetvat odplowy [indirect reflexive, referring to the sophists] xorjpuata ddovTag
KAl XAQLV TROOELDEVAL.

Learn:
YYVOOK@W — yvwooual Eyvwv  Eyvoka Eyvwopat  £yvwoonv.

For the declension of 6otic (whoever), see #361, p. 392 bottom.
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Feb. 25, Fri.
In TV translate Nine J.

Learn the present optative of eiui (be) (use the table at #385, p. 433) and the aorist
passive optative (#369, p. 403, mtavOeinv).

Apology to 20c2 (AOnvaior).

In contrary to fact (or unreal or contrafactual) conditions, the protasis expresses

a supposition that the speaker knows is not or was not the case, and the apodosis

expresses what would be or would have been the consequence if that were or had been
the case. (#242-43, pp. 258-59 and #254-55, pp. 276-77). RG calls the past contrary to fact

“unfulfilled.”

Contrary to fact:

protasis apodosis
Present: et + imperfect indicative ~ imperfect indicative + &v
Past: el + aorist indicative aorist indicative + d&v
protasis apodosis
Present: If you were illiterate, you wouldn’t be reading this.
Past: If you had been illiterate, you would not have been able to read the
directions.

20a7 is a mixed condition. Let me reformulate it as two unmixed conditions,
replacing the dual forms:

Present: et tov KaAAiov otviot mwAotnjoav, avtolg émotdt)v EAapupave av.
Imperf. If the sons of Kallias were colts, he would get a trainer for them.

Past: el ToU0 KaAAiov ot viol mwAot éyevovto, avtoig émotatny EAafe av.
Aor. If the sons of Kallias had been born colts, he would have gotten a trainer for
them.
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20c1 £€xotr. Why this is optative takes some explaining, but the phenomenon
recurs (though usually in simpler forms):

Socrates’ original thought was something like,
6 EUnvocg ot pakadplog el tavtnv v téxvnyv ExeL
Euenus is blessed/lucky if he has this skill.

Or, more doubtfully:
0 EUnvog ein paxaplog, et tavtnv v téxvnv éxot av. (future less vivid)
Euenus would be blessed if he should have this skill (though I'm not
entirely convinced).

When turned into indirect discourse (indirectly quoted) with a verb of saying in
secondary (also called historic) sequence (aorist, imperfect, pluperfect), the indicatives
may (and in Plato usually are) turned into optatives:

EAefa 6t 6 Evnvog eln pakaolog, et tadtnv v téXvnv €XoL.

Optatives stay optatives, though &v drops out. Therefore it is unclear whether
the original statement was indicative or optative. Socrates has replaced, “I said he was
blessed,” with “I considered him blessed” (paxailw).

This is a particularly complicated example. What you will regularly encounter in
the Apology are optatives that indicate that a statement is being indirectly quoted after a
secondary-sequence verb (“I said that...,” “I thought that...”).

Socrates continues with a present indicative: kat o0twg épupeAg dd&okeL
because how cheaply Euenus teaches is not in question. “I considered him blessed
because he teaches so inexpensively” (present tense used because he continues to do
S0).

20cl éyw....tavta is a garden-variety present contrary to fact (i.e. what I would be
doing if I understood these things — but I don’t).
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Feb. 28, Mon.

Apology to 20e5 (Aéyerv)
20d1 tva p)....a0vtooxedalwpev: For purpose clauses see #298-99 (p. 323).
20e3 kat pot .... Aéyerv: A future more vivid condition with an imperative
instead of a future indicative in the apodosis. The speaker sees the fulfillment as
relatively probable, but not certain. RG present the future more vivid as a form of
“open” condition (#282, pp. 304-05).

Future more vivid:

protasis apodosis
¢dv + subjunctive future indicate or imperative or
Otav (whenever) xo1) or det with an infin.

Omov &v (wherever)
0otis av (whoever)

Otav 6 Lwedtng d0&n L peya Aéyetv ol dikaotal Oogupricovatv.
Whenever Socrates seems to say something proud, the jurors are going to
make a ruckus.

¢ov (nrjonte Tavta, oVTWS VENOETE.

If you investigate these things, you will find it so.
Learn:
é¢xw €Ew (shall have)/ oxnow (shall get), éoxov, éoxnka, -¢oxnuat (the dash indicates
that it occurs only in compounds, e.g., Tagéoxnuat)

Mar. 2, Wed.

Apology to 21b9 (¢toamounv).

20e5 éuov and a&loxpewv are in predicate position for emphasis. With changed
order:

0w TOVAGYOV OV avAéyw [asbeing] ov éudv.

AAA” avolow [Tov Adyov] eig tov Aéyovta [as being] afioxoewv vu@v.

OV av Aéyw: Aéyw is subjunctive, “whatever word I may say,” as if a present
general clause, but here essentially equivalent to 6v HéAAw Aeyerv.
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a&loxoewyv, is masculine accusative singular (like mAéwc; rare in being
uncontracted and RG does not give the declension).

20e6 G yap eung [oodiac] (gen. comes from pagtueq).

21a3 ¢’ OtL OpunoeLeV is the protasis of a past general condition, or what RG
calls “indefinite in secondary sequence” (#300, p. 325).

Past general:
protasis apodosis
gL+ optative imperfect indicative
el 0 Xawepwv éni tLdguroetev  opodog Mv.
If Chairophon had the urge toward something, he was impetuous.

0 Xapepwv 1v opodog [Tl tovTo] €’ OTL OQUT|OELEV.
Chairophon was impetuous [toward that] toward which he had the urge.

21a6 el tic €uov el copwrtepog: Optative because quoted in secondary sequence
(#264-65, pp. 285-86). Chaerephon’s question could be: "EoTtt ti¢ Tov Lwkodtoug
ocopwteog; he did not ask: tic Twv avOowmwv codpwtatdg eotiy;

You now have virtually all the conditions that you will need in translating Greek. Here
is an overview with rough English equivalents, which also indicates how &v moves
about. Just translating &v as “would” and improvising from there is not a good habit to
get into:

&v + optative = potential optative (“should, might, could”) (In essence, the apodosis of a
future less vivid condition with no protasis.)

av + aorist/imperfect/pluperfect indicative = past potential indicative (rare) (“would”)

Simple: If the defendant speaks well, the jurors believe him.

Future more vivid: If the defendant speaks well [shall speak well], the jurors will
believe him.

(¢av in the protasis)

Future less vivid:  If the defendant should speak well, the jurors would believe him.
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Were the defendant to speak well, the jurors would believe him.
(&v in the apodosis)

Present general: =~ Whenever [or “if ever”] a defendant speaks well, the jurors believe
him.
Compressed: Any defendant who speaks well is believed by the jurors.
(éav in the protasis)

Past general: Whenever a defendant spoke well, the jurors believed him.
Compressed: Any defendant who spoke well was believed by the jurors.
(No av)

Present contrary to fact: Were the defendant speaking well, the jurors would believe
him.
(&v in the apodosis)

Past contrary to fact: If the defendant had been speaking well, the jurors would
have
believed him.
(&v in the apodosis)

Mar. 4, Fri.

Apology to 22a6 (éxewv).

21b9 wg eAéyEwv kal antopavav: The future participle with wg usually indicates
purpose (#251, p. 271).

21c9 6t olotto: As with €xot at 20c1, the transposition to secondary sequence
accounts for the optatives. The original statement was: oietat etvat copog, €0t d’ 00.

Mar. 7, Mon.

Hour test on translation of RG Section Nine and passages of the Apology
translated thus far (vocabulary list from Helms provided) and on the conjugation of the
aorist of the verbs whose principal parts you have learned (indicative / subjunctive /
optative / imperative / infinitive in the active / middle / passive). I'll give the present of
the verb.

Greek 12 15



